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General Instructions:

1 gandidatc must write his/her Roll Number on the first page of the Question

aper.

2. Please check the Question Paper to verify that the total pages and total
number of questions contained in the Question Paper are the same as those
printed on the top of the first page. Also check to see that the questions are
in sequential order.

3. Making any identification mark in the Answer-Book or writing Roll Number
anywhere other than the specified places will lead to disqualification of the
candidate.

4. Write your Question Paper Code No. 69/MAY/4, Set [A] on the Answer-Book.

S.

(a) The Question Paper is in English/Hindi medium only. However, if you
wish, you can answer in any one of the languages listed below : :
English, Hindi, Urdu, Punjabi, Bengali, Tamil, Malayalam, Kannada,

Telugu, Marathi, Odia, Gujarati, Konkani, Manipuri, Assamese, Nepali,
Kashmiri, Sanskrit and Sindhi.

You are required to indicate the language you have chosen to answer in
the box provided in the Answer-Book.

(b) If you choose to write the answer in the language other than Hindi and

English, the responsibility for any errors/mistakes in understanding the
question will be yours only.

6. In case of any doubt or confusion in the Question Paper, the English version
will prevail.
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Note : (ij This question paper consists of 50 questions in 2l

(@) Al questions are compulsory.

(i) Marks are given agzinst each question.

(V) Section—A consists of
(2) Qussf.ion Nos. 1 to 20—Multiple Choice-type questions (MCQs)
carrying I mark each. Select and write the most appropriate opiion
out of the four options given in each of these questions.

(b) Question Nos. 21 to 35—Objective-type questions carrying 2 marks
each (with 2 sub-parts of 7 mark each). Attempt these questions as
per the instructions given for each of the questions.

(v) Section—B consists of o

(@) Question Nos. 36 to 42-34Yc1y Short Answer-type questions carrying
2 marks each to be answered in the range of 30 to 50 words.

(b) Question Nos. 43 to 48—Short Answer-type questions carrying
4 marks each to be answered in the range of 50 to 80 words.

(c) Question Nos. 49 and 50—Long Answer-type questions carrying
6 marks each to be answered in the range of 80 to 120 words.

An internal choice has been provided in some of these questions.
You have to attempt only one of the given choices in such questions.
fén: () = gm-m1 4 a 50 5w #
(ii) =wd w3 afEd €
(iii) ¥ 5 % FF IWF awd fuw #
(iv) wUE—a § e 2 )

(%) T HEM 1 & 20 7 agmhed ¥, Al 5% T\ 1 3% w1 21 v v
ﬁﬁqmwﬁmﬁﬁ%ﬁmﬁmwwﬁaﬂt%ﬁl

(@) W9 ¥@N 21 | 35 7% IGHB FHR & W, A 5@&% W 2 3% w1 2
(1 3% % 2 I9aTl & |9)| T T & e g mu Bs % R = ww
* IW 3
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SECTION—A
QYus—h

1. The most commonly used measure of central tendency is
(A) arithmetic mean - @ median
(C) mode &) quartile o ° 1
W A T F SR At I s W A 2
(A) ST Teg (B) WS
(C) w&eT® (D) wgd®

2. The symbol ¢ stands for <

S\ mean deviation @ standard deviation

( (C; ?average deviation (D)~ step deviation 1

fug o forgs foru v 9 a1mar 27
(A) A=A fmem (B) AW fo=em
(C) aftwa fa=ed (D) & fe=em
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3. The distribution of output relates to which of the following central
problems? ]

(A) What to produce (B) How to produce
0 For whom to produce (D)

- S o fhe S wmen @ defm 27
(A) 1 I TR sy %~ (B) ¥ I fear 9H
(©) Fou g e fr s

None of these

u:‘n:

o o) w @
@ Resources grow when their %
(A) \ physical availability increases ==_____§ B) quality improves
9 @oth'm) and (B) ?\k) Neither (A) nor (B) 1
warel A gfg At @ W9 IR
(A) ifes STeEaa Tod @ (B) T Fuwd &
(©) (a) 3R (B) B (D) 74 (A) 3R T & (B)
S. Production possibility curve slopes f;—_:_;_
downwards -t (B) upwards
i(C) parallel to X-axis {_;‘S& parallel to Y-axis 1
&) 2 iR © (B) IR # e
(C) X-318 % WHHIN (D) Y-8 F T

6. When income changes, demand for a good

y may rise (B) may fall

@ may rise or may fall =*=__j (D) None of these - 1
= g o ufEdd Bl g, a’r@m@ﬁjn

(A) w7 T 2 o (B) W wEN R

(C) &g @wdl & A1 ue i ! R % (D) ¥ & ® T
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8.

10.

(A) is positive
(B) is negative

(C) can be Positive or can pe negative
(ﬁbis Perfectly elastic /

The average fixed éost curve is : ,
(A) paralle] to X-axis (B) parallel to Y-axis
downward sloping

(D) upward sloping 1
R =% 2 2
(A) X-318 % guwiR (B) Y-31% % wurim
(C) = H 3 et (D) IR A 3R zemt
The law of supply is based on the assumption that supply changes only due
to change in ‘
(A) price of the given good - cost
(C) price of other goods (D) All of these 1
ﬁwmwﬁm-maﬂm%%mﬁﬁqﬁaﬁam__%vﬁaﬁqﬁ
T Rl :
(A) =% A I Fom ' (B) @@
) = T H frw D) i & wh
The marginal cost curve is :
(A) U-shaped @ inverse U-shaped S
@ downward sloping (D) upward sloping 1
HITid A T g 2
(A) U-3TR &1 (B) 3 U-3T#R 1

(€) 3 % 3zt (D), 'St st el
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11. Homogeneous product’ is the feature of

(A) perfect competition monopoly

(C) monopolistic competition _ (D) oligopoly :
e T R R 27 =

(A) T e @)

(C) TR SR 11D) s

“l
12. In case of excess demand of a product

price rises (B) demand contracts

(C) supply expands (D) All of these 1
Th g H Hi-InfE F1 e B 2
(A) Hma wed @ (B) =M # wHET B 2
(C) qid # fowm g @ (D) ¥ & =ft
)

102

13. ‘Group behaviour’ is the feature of ¢
(A) oligopoly T (i3) monopolistic competition
(C) perfect competition None of these 1
T SRR Rrad Redw 27 -~
(A) 3SR (B) UmIttepiites Wit
(C) ot iRt (D) ¥ & i T

14. Interest which is included in national income is the income of those who
provide funds to

(A) production units i<(B) individuals

@ government {,,(.b) All of these ' 1
r@qmﬁmaﬁmmwmisﬁ 3 F=0 |

(A) IEE TS ,‘JB) =fe

(C) TR “D) =i ¥ wh

s nnati Eduddtiis
9899436384, 9654279279



15. As per psychological law of co

] OSumption, as income Increases,
consumption glsg increases but at

a

(A) lower rate @hjgher rate
(C) same rate (D) Any one of these 1
mn%n‘-ﬁémﬁmmq%am, [ IR S 7, I 9wz & SR
A) =9 [T w B) s [ w
(€ S8 w w D FHasdw
16. The value of multiplier equals
1 1
(&) 1- MPC @ 1-MPS
1 1
(©) MPC @ MPS -1 :
TS &1 72 f5as aom S 2?
1 1
LY == ® Tves
1 1
©) e O MpsT
17. The most important measure of money supply is
(A) M, M,
(C) M, D) M, 1
T S+ v weEt w2
A) M, (B) M,
(C) M, (D) M,
18.

Current account deposits are generally maintained by
(A) firms

(B) households
(C) both firms and households

individuals oo 21
|1 G S W S e 89

(A) wi (B) wRaw

(C) wd 3R fEr < (D) =afe
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19. Which one is direct tax? 1

(A) Value-added tax . GST
(C). Gift tax (D) Sales tax
T SE-W Wy w0 27
(4) Twa-gfe = (B) o THo Fo
(C) IUER & IJ (D) fush =
20. The major source of non-tax rcven‘ue.of the government is
(A) commercial revenue ‘ ~*  (B) administrative revenue
(©P Both (A) and (B) . (D) None of these 1
THA & - T & 0E ad &
(A) =mRE ToE (B) WmEf® Tora
(C) (A) 3k (B) it (D) ¥ } w T
@ Fill in the blanks : 1x2=2

Conventionally, index numbers are expressed in terms of _____
b)/ The value of base period in inde‘x number is _____
(%) RS IR W gEeis __ # = fw S R)
(@) mﬁmaﬁww#ﬁmﬁl

@ Fill in the blanks ‘ 2
Quartile is the measure which leldCS the distribution into equal
parts, and so the number of quartiles is

wreft WE AR
wqds 98 AW B, th@wai’t Wit # afed @ i gy wgelet i wEm
B R \J
.
/@ Fill in the blanks : -~ 2
% and are the values-of 'perfect correlation.
Treft T AR A

A ___ f ww % q

sspuvai INATE EAUu BB -
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@ Fill in the blanks :

When the quantity demanded of a good rises due to fall in _____ only,
it is called ___ of demand.
Wil ¥ 9w -
m@wﬁmﬁmﬁq@m i & sro Bt 2, @ 33w
& R
g@/ State True or False : 1x2=2
(a) Fl;if%ﬁcity of demand (-)2 is less than price elasticity of demand
(b) When pri

ce sticity of demand is zero, it is called perfectly elastic
demand. @
SAE WE 2 AT e :
(%) AT 6t Pwa-d= ()2, Gt H BHd-a= (1 T +H Rl
(@) 5@ A1 $ Fra-d 7@ @ R, @ T8 wiew AeER T FEerd 2

@ State True or False - 1x2=2

(@) Rental value of a firm’s own office is explicit cost@

(b) Normal profit is part of economic cost. @
TARY HE R AT T -

(m)@wﬁ%mwhaﬁmﬁﬁawmmmwmél
(@) "= o RIS @ &1 9 Ry

@ Fill in the blanks : : 1x2=2
Implicit cost is also called __ cost.

% Contracfion in 'suppiy means _____ movement along the supply curve.
Treft T ¥R

(%) JFdfifed o 1 _ @ off s )
(é)qﬁﬁ@#mmi{ﬁaﬁm H AR T R
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Fill in the blanks - 2

Besides Primary Sector, o

ther sectors of the economy are ____ and
sectors.

Greft WM R
mm%a%aqﬁrﬁ?s a?ia«aw%

//State True or False :

ﬂ}/lndlan Embassy in Nepal is part o£ domestlc territory of Nepal. -

(b)/Machine purchased for mstallatlo
FART TE B AT A

(m)mﬁwma@mm%uﬁéawmﬁ
(@)@W@ﬁﬁmﬁ’@mﬁqﬁ@ﬁamﬂﬁa@%l

tate True or False :

@GNP is national income. T

GNP less GDP 1s net factor inco
>

FAY TR 7 AT T
(%) GNP Wfw 31 2|
(@) GNP % § GDP WwerM W faewi ¥ yg %R/ o™ §a ot 2|

QBI*@‘{___‘?I

P
. “.,;,' i

I'luuq
S 1
[

1x2=2

nin a factory is intermediate good. T

)
rusn

agy ¥ Ilill:‘r
#

fr J ¢

1x2=2

hiusm

P
./ .151

from abroad. F’

»
,lll ”gll,l'la "4

slexems ¥

31. Fill in the blanks : 2

In the context of inclusion in national income, vegetables purchased by
a hotel isa _____ product but whén purchased by household gt

(’“}
gl ¥IF Wi :

mmﬁmw%mﬁ,@mm@mwm_a@%,am
99 30 TH YRER Glear 8, @ @ - mﬁwl:ﬁwﬁ%l
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32. Fill in the blanks :

The two parts of disposable income are and ___.
el W vt .
qay 3 & '&1 i qYl il
33. Fill in the blanks : 1x2=2
(a) When change in income equals change in investment, the value of
multiplier is ¢
(b) The result of excess demand in an economy is
el v vt
(%) w0 st | uftads st fram # ofeds s wom 8, @ e = oge 'l
() sdeare i win-snfuey w1 gfom a2
State True or False : 1x2=2
@? Routine expenditure of government is plan expenditure. (=2
@ Regulation cfl"wngcn is a fiscal mcasurc.@@
wergy, 4dl B W e
(@) wtw & oml w1 Yy doE-ead )
(ta) worgl w1 Py oy 3o R
38, Fill in the blanks : 7

The major sources of non-tax revenue of the Central Government are
revenue and revenue,

ey wra v

Fodtg wer & M-a1 Tona & g WA TR aw T #)
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SECTION—B
TQis—g

State the difference between linear corrgalaﬁon and non-linear correlation. 2
if@ﬁmaﬂtﬂt-mm%ahammm

87. Name two mathematical averages. o
R sty et S W A

Or /| 3re@r v
State the formula for calculating mode.

SETH FTA B F B Farsy

38. Explain the purpose of index number 1ssue in the construction of index
number. 3 2

m%ﬁnﬁﬁw%a&vﬁ%mmml

39. Name any two factors affecting market demand only. 2
mwmﬁmﬁammﬁaﬁé{mwl

40. Explain the relation between ‘share of total expenditure’ on a good and its
price elasticity of demand. 2

@a@maﬁmﬁ‘wmwm’aﬂtwﬁmqﬁ@a%aﬁamaww
Or /| 3uar

State the formula for calculating price elasticity of demand through the
percentage method.

nﬁwm%&rmmmﬂ?ﬁammﬁwWaﬂml

41. Explain private cost.
feft @ TmEm)
- Or [ sr&En

AT e

il
¥

Explain social cost.

WIS AN GHETST|
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42. How do ‘prices of inputs’ influence supply?
e O W Rl s $

Or / 3ear

How does ‘technology of production’ influence supply?
ERLSICE IR o (I I g

43. Draw a pI:oduction possibility curve. Mark axes and curve clearly. What
does a point on the curve imply?

Uh I TWIET 6 S50 787t ol o6 ) wed: Fufed HIR T 9% W A
fag = fe@mn 27

44. Define ‘cross’ elasticity of demand. Suppose demand for a commodity falls

by 8% due to 4% fall in the price of its substitute, calculate ‘cross’
elasticity of demand.

ﬁﬁ‘m@’ﬁaﬁmaﬁqlmmﬁqwa@ﬁ,mmﬁm
4 wfaea fR 9 |, #i1 8 wfiwm fx S R, @ otn £ e’ |9 B IRee SR

Q. A firm sells 70 units of a commodity at a price of €7 per unit. When price
=, rises by ¥1, he sells 80 units. Calculate price elasticity of supply. 4

Th B €7 W THE W 70 sHiAl d9a 2 v® ha § €1 6 ofg O 2, @ W@
80 Tl a=ar 2l gfd &t Ha d= w1 e Hifd

~ 46. Draw a diagram showing national income equilibrium through
consumption and investment. Mark axes and curves clearly. 4

SN 3R e F FUR | T 3 F Eged @i §U O Wit s=1m e
T Wua: fafea Hifdm

Or | JYar

If marginal propensity to save is 0-1 and change in national income is
¥100, calculate increase in investment.

gfe Hiviq s=a ygfy 0-1 & 3R W I/ # gfg £100 A, @t Faw # gfg &1 aRweH

LAnnati Edugcatiomgymn
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47. Draw a diagram showing ‘excess demand’ of a product. Mark axes and
curves clearly. 4

Th IATE H ﬁ—m&w'%@ﬁg@%@ﬁaml & Tl R wea:

Off [ sreE

: o
Draw a diagram showing ‘excess’ supply’ of a product. Mark axes and
curves clearly. A0

T I B T-Iir Rww g o ek i s a9 9 e R
Hifrg

% -

48. Explain lack of common unit of measurement’ as a demerit of barter

system. 4
a@-ﬁmﬁm%mﬁ‘mﬁmﬁréwm’mﬁql
Or [~Srerar

Explain ‘providing employment §p}30rtunities' of government budget.

erﬂaaz%‘ﬂmn%mm}}jgﬁmﬁmmw

.

4 f |
e

49. The average income of three batches of workers having 10, 20 and 30
workers respectively, are ¥400, ¥300 and ©200 respectively. Find the
combined average wage of all the 60 workers together. 6

Tl % f @qgl, e e 10, 20 7 30 79y &, I 3w I ww: €400,
rsooaﬁtrzooélmﬂﬁowqﬁﬁm{f%maﬁmmzmwﬂmtﬁm|

50. Explain any three precautions necessary for estimating national income
through the production method. ~

mmﬁfamu@ummﬁﬁaggmmwmmmmmn
Or/z'%anm

AT
Explain the steps in estimating.iﬁétional income by income method,

a7 fafy zr0 Wi s o & fog 9 A w7 TeEE

k ke ok

*‘wwzmldnnafi E duc atiammsim
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